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Cluster: 0178 ptr; resid: 0.24; r/c: 29/78

x.range

upstream meme PSSM #1; e=650

1 3 5 7 9 11 13 15 171 3 5 7 9 11 13 15

x.range

y.
ra
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upstream meme PSSM #2; e=6e+03

1 3 5 7 9 11 131 3 5 7 9 11
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−500 −400 −300 −200 −100 −1
atp6NA
cobNA

cox2NA
cox3NA

nad11−bNA
nad2NA
nad3NA
nad4NA

nad4LNA
nad5NA
nad7NA

nad9−rps14NA
rpl14NA
rpl16NA

rpl5NA
rps10NA
rps11NA
rps12NA
rps13NA

rps2NA
rps3NA
rps4NA
rps7NA

47154−2.40
34905−4.13
41241−4.33
46524−6.02
46719−8.85
46509−9.00

log10(P) upstream meme1 2 log10(P.clust)=−5.79; 29 seqs; 7 uniq
c(0.5, 2.5)
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